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Exercise 50@4613 X be the number of heads which appear in 20 random tosses of a fair coin C%et Y be a
number which is randomly picked from a hat with the numbers {0, 1,2

s {0,1,2,...,20} (independently from X). Let
Z = max(X,Y). Find a formula for P(Z = k) where 0 < k < 20.
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Exercise 51 Sunnose that we have two dice which are not fair. The number i annears with nrobabilitv n:
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Exercise 49 Let X; and X5 be the numbers obtained by rolling two rolls of a fair die. Let Y} = max(Xy, X5)
and Y5 = min(X;, X5). We already calculated the joint distribution table for X; and X, in class. What is the

joint distribution table for Y] and Y57
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Exercise 51 Suppose that we have two dice which are not fair. The number i appears with probability p;
for the first die and with probability p/ for the second die. Let S be the sum of numbers rolled with these two
dice. Find the formula for P(S = 2), P(S =7) and P(S = 12).




